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51. Identify the words which take the suffix “___ ist”.

(a} Hero {(b) Attract (¢) Flute (dy Loyal
Answer Options :

(1) Only (a) and (d) {(2) Only{(c)and (d)

(3) (a), (b)and(c) (4) Only (b) and (d)

52. Choose the sentence with the meaningful sequence of words :

(a) He earried his clothes in a black heavy steel trunk.

(b) He carried his clothes in a heavy black steel trunk.

(¢} He carried in a heavy steel trunk black his clothes,

(d) His carried clothes black trunk heavy steel.

Answer Options :

(1) Only ) (2) Only{c)

(3) Oanly (a) (4) Only (d)

53. Identify the correct sentence in indirect speech which expresses command of the
given example :
e.g. The inspector said, “Let no one touch the body.”

(a) The inspector said that no one was to touch the body.

{b) The inspector said, “that no one touch the body.”

{¢) The inspector told that no one was there to touch the body.
{d) The inspector said let no one shall touch the body.
Answer Options :

(1) Only (b) (2) Only(d)

(3) Only (a) (4) Only(c)

54. He has a busy schedule, so he will be late.
Which of the following is the simple form of the above sentence ?
(1) On account of his busy schedule, he will be late.
(2) He will be late because his schedule is busy.
(3) His schedule is busy that’s why he will be late.
(4) He will be late as his schedule is busy.
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55. If they had offered me a decent salary, I would have accepted the job.
The condition expressed in the clause above is .
(a) Impossible condition (b} Probable condition
(c) Improbable condition (d) Condition of general truth
Answer Options: _
(1) Only(b) (2) Only(c) (3) Only () (4) Only{a)
56. {a) You are prohibited from smoking here.
(b) Neither pride nor prejudice affects him.
(¢) The committee is divided in their opinions.
Identify the grammatically correct sentence/s.
(1) Only{a)and (b) (2) Only(b)
(3) Only(b)and {(c) (4) Only(a)and (¢}
67. Identify the grammatical class of the underlined word in the sentence :
e.g. They are school children,
(a) Noun {b) Adjective (c) Verb {d) Adverb
Answer Options :
(1) Only(b) (2) Only({c) (3) Only{(d) (4) Only(a)
58. Choose the sentences with correct punctuation marks :
(a) The mother said to her son; ‘come into the kitchen. I shall give you something
to eat.’
(b) The mother said to her son, come into the kitchen I shall give you something to
eat.
(c) The mother said to her son come into the kitchen, I shall give you something to
eat.
(d) The mother said to her son, “Come into the kitchen. I shall give you something
to eat.”
Answer Options :
(1) Only (¢) and (d) (2) (a),(b)and (c)
(3) Only(d) (4) Only (¢)
59. Identify the passive form of the following sentence :

Someone left the dog alone in the garden.

(1) The dog is left alone by someone in the garden.

(2) The dog had been left alone by someone in the garden.
(3) Someone has left the dog alone in the garden.

(4) The dog was left alone in the garden by someone.
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60.  “Shall I begin the discussion ?”
The indirect narration corresponding to the question above is
(a) He asked me if he should begin the discussion.
(b) He asked me if I should begin the discussion.
(¢) He requested whether I shall begin the discussion.
(d) He asked if he should begin the discussion.
Answer Options :
(1) Only (2) Only (a) (83) Only(c) (4) Only (b)
61. Louis Braille / sense of sight / all / had lost / age of five / by the
Which of the following statements is in correct order ?
(1) Louis Braille had lost at the age of five sense of all sight.
(2) Louis Braille had at the age of five lost all sense of sight.
(3) At the age of five, Louis Braille had lost all sense of sight.
(4) Louis Braille had lost at the age of five all sense of sight.
62. Choose the correct phrase for an expression :
‘An indication that something bad or difficult is about to happen.’
(1) 'The lines on the palm (2) The writing on the wall
(3) The writing on the notebook (4) A silver lining
83. (a) If we had acted wisely there would have been no partition.
{b) When the Sun rises birds came out of their nests.
{¢) Ifhe had strength he could have carried his luggage.
(d) The college bell rings when it strikes ten.
Identify the grammatically correct sentence/s.
(1) Only (a) and (@) (2) Only (b) and {(d)
(3) Only{(a) and {(c} (4) Only(b)
64. Choose the complex sentence among the fdllowing examples :

(a) Itis a pity that we should have to undergo this disgrace.
(b) Our having to undergo this disgrace is a pity.

Answer Options :
(1} Only (a) (2) Only(b)
(3) Only (a) and (b) (4) None of the above

FoeT BTSSR / SPACE FOR ROUGH WORK




A 19 : c15
65. Identify the type of adjective underlined in the given example :

e.g. This is the very book I want.

(a) Possessivﬁective (b) Adjective of quality

(¢) Numeral adjective (d) Emphasizing adjective

Answer Options :

(1) Only (c) (2) Only(d) (3) Only (a) (4) Only (b)
66. A good agency will weed out those unsuitable candidates.

Select the correct word for the underlined.

(1) block (2) segment (3) eliminate (4) refresh
67. (a) If he takes an early bus he would reach Mumbai in the afternoon,

(b) If you whistled, the girls would mind it.

(c¢) If your work is over, go home and enjoy T.V.

(d) If he behaved well, she would have loved him.

Identify the correct sentences,

(1) Only({(a) and (b) (2) Only (b) and (c¢)

(3) Only(a)and (d) (4) Only (a), (c) and (d)
68. (a) Neither of the two books was found useful.

(b) Each of these two shops is doing good business.

(c). Every one of these workers is a trained technician.

{(d} - One of those candidates are sure to be selected.

Identify sentences from above which follow ‘subject-verb’ agreement. |

Answer Options :

(1) (a)and (c) (2) (b)and (d)

(3) (a)and (b) 4) (c) and (d)
69. Choose the correct yes — no type question form for the given examplé :

e.g. They go to the park every evening,.

(a) Does they went to the park every evening ?
(b) Did they went to the park every evening ?
(¢c) Shall they go to the park every evening ?

~(d) Do they go to the park every evening ?

Answer Options :
(1) Only(d) (2) Only (b) (3) Only(c) (4) Only (a)
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Identify the correct meaning of the underlined idiom in the sentence :

e.g. Her mother was up and about two weeks after the operation.
(a) Omn the bed

(b) Omn the medicine

(¢) On on€’s feet

(d) On life support

Answer Options: _ —

(1) Only () (2) Only(d)

(3) Only(a) (4) Only (c)

71.

Fill in the blank in the giveﬁ sentence.

. He was the tough guy.

Answer Options :
(1) Quintet (2) Quintillion
(3) Quintessential (4) Quintile

72.

(a) He remembered where he had left it.

(b) My son knew that I would punish him.

(¢) He admitted he was guilty.

(d) He left because his wife was sick.

Identify the sentence/s with the correct Noun Clause.
(1) Only(a) and (b)

(2) Only (b) and (d)

(3) Only (c)

(4) Only (a), (b) and (c)

73.

(a) We use a paper to write on.
(b) Iron is a very useful metal.
(¢) 1had macareni for breakfast.
(d) What a ignorant man he is !
Identify the correct sentence/s.

(1) Only(a)and (c)

(2) Only (b)and (d)

(3) Only (b)and (c)

(4) Only (c) and (d)
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74. Fill in the blanks.
The calling the black.
(1) pot, glass (2) pot, kettle
(8) pot, stove (4) pot, wall
75.  Fill in the blanks in the given conversation.
Mukesh : Well, we need a menu, ?
John : We haven’t got one here, ?
Answer Options :
(1) isn’tit, is it not (2) don’t we, have we
(3) dowe, haven’t we (4) haven't we, have we
76.  Choose the correct sentences.
(a) If your braces is loose your trousers comes down.
(b) These premises look too big.
{c) Arethe old always wiser than the young ?
Answer Options :
(1) Only (b)and (c) (2) Only (a)and (¢)
(3) Only(a) and (b) (4) (a), (b) and (c)
77. - Choose the meanings of the word given in capitals in the given sentence (base form).
The vegetables were planted in neat ROWS.
(a) A serious disagreement/argument
(b) A loud unpleasant noise
(c) To move a boat through water
{(d) A number of objects arranged in a line
Answer Options :
{1) Only(a) {(2) Only{a)and (b)
(3) Only (b) and (c) (4) Only ()
78.  Choose the correct question form of the given sentence.

You can weigh these letters.

(1) Can you weighed these letters ?
(2) Can you weigh these letters ?

(3) Do you weigh these letters ?

(4) Have you weighed these letters ?
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Choose the correct sentence/s.

(a) He hasn’t a beautiful furniture in his house.

(b) The news are good today.

(c) What nonsense to have a picnic in such bad weather !
Answer QOptions :

(1) Only{a) (2) Only(e)

(3) Only (a)and (¢) (4) (a), (b) and (c)

80.

Choose the option that would substitute the underlined part of the given sentence.
Although he was always happy, he did not love anyone.

(1) Although always was happy
(2) Although always to happy

(3 Although always happy

(4) Although always be happy

81,

Match the following :

(a) Something that will solve all the (i) Primordial
problems

(b) Existing from the beginning o (i) Myalgia
the world :

(¢) Painin a muscle (iii) Misanthrope
(d) Person who hates other people (iv) Panacea
Answer Options :
(a) (b) (c) (d)
(1) (ii) (D) i) (iv)
(2) Givy (@ (iii) (D)
3 Giv) @) (ii) (iii)
(4) (i) (ivy (D (iii)

82.

Choose the correct sentence/s.

(a) Tl see Mr. Mehta, if I will be visiting Valsad.

(b) He fell on the floor while entering the room.

(¢) I hate his sending her reminders.

Answer Options : ’

(1) Only(a) and (c) (2) Only (b) and (c)
(3) Only (a) . (4) (a), (b) and (c)
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Choose the alternative meaning opposite of the word in capitals in the given
sentence.

The plan, as yet, only exists in EMBRYONIC form.

(1) Early stage

(2) Advanced

(3) Embroil

(4) Emanation

Choose the word/s having same meaning as the word in capitals in the given
sentence.

We have to tolerate each other’s little FOIBLES.
(a) Idiosyncracy

(b) Fables

(¢) Infirmity

Answer Options :

(1) Only (b

(2) Only (a) and (b)

(8) Only(a)and (c)

(4) (a), (b)and (c)

85.

Which one of the following prefixes meaning ‘all’ correctly befits the word ‘vorous’ ?
(a) Mono - (b) Pro-—

(¢) Supra- (d) Omni-

Answer Options :

(1) Only()

(2) Only(a)

(3) Only(d)

(4) Only (c)

86.

The tall girl wearing a blue frock is my cousin.
(Which is a noun phrase in the sentence ?)

(1) The tall girl

(2) a blue frock

(3) pgirl

(4) The tall girl wearing a blue frock
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Read the following passage carefully and answer the questions given
below (Q. no. 87 to 91) :

Many companies are now working on quantum computing and their applications.
Here is what some of them are doing :

Back in 2018, Google had developed an innovative quantum-based processing
solution known as Bristlecone which is a 72-qubit device that is said to fetch necessary
improvement on various options available in the market. It's biggest rival at that time was
IBM’s 50-qubit machine. Now, the search engine firm utilizes a D-Wave quantum computer
developed in their quantum artificial intelligence (AI) lab which is a joint initiative of
NASA, Universities Space Research Association and Google.

At the IEEE Cenference in San Francisco, Google showcased a custom made circuit
for quantum computing that is coupled with cryptographic enclosures to strengthen the
scaling up of quantum computer systems in the coming years.

A few months back, quantum software company 1QBit and Accenture collaborated
with Biogent to bring out the industry’s first quantum-based molecular comparison
application that would significantly improve advanced molecular design to speed up drug
discovery for complex neurological conditions such as multiple sclerosis, Alzheimer’s,
Parkinson’s and Lou Gehrig's diseases.

Accenture is now constantly monitoring and supervising the quantum computer
ecosystem and partnership with famous firms such as Canada-based 1QBit, one of the
leading software companies that is committed to craft software and development tools to
tackle the world’s colossal computational impediments.

IBM’s specialty is its attention to the universal gate model where the majority of
the world’s leading quantum computing firms are also focusing. In the quantum gate model,
qubits are placed into circuits rather than traditional one and zero bits whereas IBM has
come up with eight different model prototypes with one option as high as fifty qubits.

Additionally, in 2019, IBM launched its innovative Q System One Solution for commercial
quantum research. Apart from that, IBM has also proclaimed its partnership with various
leading universities to encourage more research into quantum computing.

Currently, Microsoft is one of the global leaders in quantum computing. Its
qualified team commenced the research in 2011. Microsoft is focused on the design aspect of
the solutions for the utilization of a fault-tolerant and scalable computing environment and
claims Enterprise Management 360. Then in early 2014, Microsoft revealed that they had
started working and researching the area of topical computing that aids to perk up the
engineering of quantum states. By the end of 2017, the company announced unveiling of its
development lit for quantum computer programming.

Microsoft’s in-built Azure Quantum is a vast range of quantum services that
comprise pre-built solutions to software and quantum hardware, offering developers and
customers access to some of the most competitive quantum offerings on the market.
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87.. The three software companies which have developed in quantum computing in
collaboration are .
{a) Google, IBM and Microsoft
(b) Google, Accenture and IBM
{(c) Accenture, IBM and Microsoft
(d) Microsoft, Google and Accenture
Answer Options:
(1) Only(d (2) Only(a) (3) Only(b) (4) Only (c)

BB. Significant contributions by Accenture and 1QBit would be in the field of
(a) Commercial research and scaling up of quantum computer systems
(b) Pharmaceuticals and solutions to computational impediments
(c) Software and artificial intelligence
(d) Universal gate model and molecular designs
Answer Options :
(1) Only(c) (2) Only (a) (3) Only (b) (4) Only (d)

89. The initiator of quantum computing development is the company named

{(a) IBM {(b) Google (c) Microsoft (d) 1QBit
Answer Options :
(1) Only(e) (2) Only (d) (3) Only(a) (4) Only (b

90. What is the meaning of ‘perk up’ in the context of the passage ? .
' (a) - Improve (b) Benefit (¢) Bring money (d) Make active

Answer Options :
(1) Only (b) (2) Only(a) (3) Only(d) (4) Only (¢)

91. What does Azure Quantum do ? .
(a) Provides pre-built solutions to software and hardware.
{(b) Improves the engineering of quantum states.

(c) Provides access to developers and customers to competitive quantum offerings
on the market.

(d) Supervises ecosystem.
Answer Options :
(1) (a)and(b) (2) (b)and(c) = (3) (a)and(c) (4) (c)and(d)
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92, (a) She had an edge in her voice.
(b} They have an edge over their rivals.
- Identify the meaning of the underlined words in their respective contexts.
(1) (a)margin —  (b) bite
(2) (a)advantage — (b)sharpness
(3) (a)bounds - - (b)severity
(4) (a)sharpness — (b)advantage
93. As soon as [ saw the advertisement, I emailed my C.V.
[Make it Negative without changing its meaning]
(a) 1did not see the advertisement and emailed my C.V.
(b) I saw the advertisement and did not email my C.V.
(¢} Inever saw the advertisement but emailed my C.V.
(d) No sooner did I see the advertisement than I'emailed my C.V.
Answer Options : 7 _
(1) (a), {b) and (c) are correct (2 (b)and (c} are correct
(8) (a)is correct (4) (d)is correct
94. We eat that we may live.
The subjunctive mood in the sentence above expresses
(a) adesire - (b) apurpose
(¢) a doubtful condition (d) awish
Answer Options:
(1) Only({(d) (2) Only(a) (3) Only{c) (4) Only (b)
95. Identify the type of clause underlined in the given example :

e.g. Take an umbrella with you, in case it rains.

(a} Clause of manner

(b} Clause of comparison

(¢} Clause of condition

{(d) Clause of reason

Answer Options :
(1) Only(a) (2) Only(d) (3) Only{(c) (4 Only{(b)
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96, Choose the sentence with correct punctuation marks :

{a) My brother, gave me a watch, to my sister; a pen.

(b) My brother gave me a watch; to my sister, a pen.

(e) My brother; gave me a watch ! to my sister : a pen ?

(d) My brother gave me, a watch, to my sister a pen.

Answer Options:

(1) Only(d) (2) Only () (3) Only (b) (4) Only(a)
97. We a code of practice.

Select the correct alternative to complete the sentence meaningfully.

(1) setoff (2) set aside (3) set forth {4) setdown
98. In a brown study

Identify the alternative which is odd in meaning of the above.

(1) Lost in thought (2) In adaydream

(3) In deliberation (4) In areverie
99, Lincolh, President of America, was assassinated.

The subject-attribute in the simple sentence above is

(a) President of America

(b) assassinated

(¢) was assassinated

(d) Lincoln

Answer Options :

(1) Only(d) (2) Only(b) (3) Only((e) (4) Only(a)
100. (a) He resembles his brother.

(b} I am tired with this work.

(¢) He ordered a new car.

(d) He will combat your views,

Identify the grammatically correct sentence/s.
(1) Only (a) and (b)

(2) Only (c) and (d)

(3) Only (b), (c) and (d)

(4) Only (a), (c) and (d)
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